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$4745? 1. �5M<5 ?D54EF46?5=<O > D>5>F>F5E=<>5
1. &5E=<>4 557>?4E=>EF<. �=4>><EF6> E >>=EFDG>F>D><

�D46<?4  557>?4E=>EF<  =4  D45>G5<  <5EF5.  �5M<5  ?D54EF46?5=<O  >5 

>5D47>64F5?L=>< >>=EFDG>F>D5 LEGO.

2. �=4>><EF6> E> ED54>= ?D>7D4<<<D>64=<O

%6>=EF64  <  EFDG>FGD4  ?D>5>F4.  �D>7D4<<=O5  5?>><  <  ?4?<FDO 

?D>7D4<<<D>64=<O.

$4745? 2. �D>7D4<<<DG5< D>5>F4
1. �D>7D4<<<D>64=<5 46<65=<O D>5>F4

�><4=4O, 7444NM<5 46<65=<5 D>5>FG-F5?56>5. �6<65=<5, ?>6>D>FO.

2. �7GG45< 44FG<> F65F4

�=4>><EF6>  E  44FG<>><  F65F4,  57>  D56<<4<<.  �D>7D4<<<D>64=<5  D>5>F4  =4 

<7GG5=<5 F65F>6, OD>>EF< >FD465==>7> E65F4 < OD>>EF< 6=5L=57> >E65M5=<O.

3. �7GG45< G?LFD476G>>6>= 44FG<>

�=4>><EF6>  E  G?LFD476G>>6O<  44FG<>><.  �?D545?5=<5  D4EEF>O=<O  4> 

?D54<5F>6. �D>7D4<<<DG5< D>5>F4-?>?<F5=E>>7>.

$4745? 3. �F>7>6O= >>=FD>?L
1. �575?LD<=7



�D>6545=<5  <F>7>6>7>  >>=FD>?O  6  D>D<4F5  E>D56=>64=<=  6  =><<=4F<< 

«�575?LD<=7»,  745  =5>5E>4<<>  74?D>7D4<<<D>64FL  D>5>F4,  >>F>DO=  6OF4?><645F 

>57?< 74 ?D545?O D<=74.

'%����/ $������&�� �$��$���/
�?O  D54?<74F<<  ?D>7D4<<O  <E?>?L7G5FEO  E?54GNM55  <5F>4<G5E>>5 

>55E?5G5=<5:

þ �45<=5F D>5>F>F5E=<><, >E=4M5==O= =>GF5G>4<<

þ �>=EFDG>F>D Lego Mindstorms EV3

þ %F>? 4?O E>D56=>64=<=

þ �>?O 4?O E>D56=>64=<= D>5>F>6 (�575?LD<=7)

%��%�� ��$�$��&����/% $�%'$%��
1.  �>?>?=<F5?L=4O  >5M5>5D47>64F5?L=4O  >5M5D476<64NM4O  ?D>7D4<<4 

$>5>F>F5E=<>4 7313 ?5F, �D<7>DO= �. �.

2. �5D6O5 L47< 6 <<D D>5>F>F5E=<G5E>>7> >>=EFDG>F>D4 Lego Mindstorms EV3, 

https://robot-help.ru/lessons.html
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